m 2m 2n  m+(2m-2n) _M+2m-2n _3m-2n _
3m-2n 3m 2n " 3m-2n 3m-2n  3m-2n

2,x8 32 x35 3x(x+5)  2(x- 5)(x+5) (x-35)x
X

X" X2 “X-5 X (x+5)(x 5) ~(x-5)x(x+5) x(x-5)(x+5) (x+5)(x 5)x ~

3
-3 x“-25

3X(X+5)-2(x-5)(x+5)+(x-35)x (3x2+15x>—(2x2+10x—10x—50>+(x2—35x>
(x-5)x(x+5) (x-5)x(x+5)

_(3x2+15x)-(2x2-50>+(x2-35x> 3x2+15x-2x2+50+x2-35x 2x2-20x+50

(x-5)x(x+5) 4 (x-5)x(x+5) ~(x-5)x(x+5) ~

(2x-10)(x-5) _2x-10 _2(x-5)
~ (%-5)x(x+5) “x(x+5) “x(x+5)

x*-25y° x%-25y° (x+5y)(x-By) x+5y

2x-10y ~2(x-5y) = 2(x-By) 2

x4—9x2+54x—81 (x2+3x-9)(x2-3x+9) _x2+3x-9

xC+27 (x+3)(x2-3x+9) x*3
YIpocTuM JIEBYIO YaCTh PABEHCTBA!
4 9 8a 4 9 8a 4(atb) 9(a-b) 8a
a-b'ath 22 b a+h” (a+b)(a-b) ~(a-b)(a+b) (a+b)(a b) (a+b)(a-b)

4(atb)+9(a-b)-8a (4a+4b)+(9a-9b)-8a 4a+4b+9a-9b-8a  5a-5b
~ (ab)(atb) T (a-b)(atb) ~ (a-b)(atb) “(a-b)(atb)

5(a-b) 5
~(a-b)(atb) a+b




